QP Code: 28404

[2Hourg| [Total Marks: 60]

N.B: 1. All questions areompulsory.
2. Each question carrie$5 marks.

Answerany two of the following :
(a) Explain how agricultural sector is playing an important role in Indian ecanomy
(b) Write about low productivity of India's agricultural sect@yRat are the causes ?
(c) Write onWTO agreements and it's impact on Indian agriculture.

Explainany two theories of agricultural development from the following :
(@) Schultz (b) Lewis (c) Ratan & Hayyami

Write onany two of the following :
(&) Explain in detail the role of major irrigation system in India.
(b) What are the problems of big dams ?
(c) Write about water pricing methods in India.

Attemptany two of the following :
(a) What are the problems faced by agricultural markets in India ?
(b) Explain in detail some corrective measures to solve the problems of agricultural
markets in India.
(c) Write on ‘Regulated Markets’.
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